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* oll No. on the question paper compulsorily

All the questions are compulsory.
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tion in the given answer=book only

Write the answer to each ques
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For questions having more thai one part, the answers to those
together in continuity parts are to be written
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on of Hindi version should be treate & English versions of the

d valid.

[ Turn over




SS-2

(6)

@)

5
I 1 I T A O we w5t shwien avavd g |

Write down the serial number of the qii'éstion before attempting it.

IS ShHTh 171#2333513113%%3@% |

Q. Nos. 17 to 23 each have 1 internal choice.

gug — A
SECTION — A

FreferRea ot 3 3o At -
Give the answer of the following questions :

@

(ii)

(iif)

(iv)

mﬁmmm%mﬁmwm%m ?
(31) ahm (¥) dfe

(\) ot (%) frdte

Which word was used by Gandhiji for so-called untouchable cagteg ?
(A) Harijan (B) Dalit

(C) Scheduled e ' (D) Giridhan

= d g sife i v g2

(31) sfa = 4§ 21 () mﬁiﬁiﬂmﬁé&ﬁﬁﬁgmﬁl

(@) S e S B A4, (). S e g

‘Which of the followmg is not a characteristic of Caste ?
(A) Casteis deiermmed by birth.

(B) Caste u{ojﬂes rules about food restrictions.
(C) Castennvolves rules about marriage restrictions,
(D) Th > 1 no subdivision in castes.

mﬁ@mﬁaﬁsﬁmﬁgé ?
(31) 1901 ()
(|) 1951 ()

When did tea industry begin in India ? - |
(A) 1901 (B) 1801

(€©) 1951 (D) 1851

I HITAH TN o Taiey

(1) St Sy (%) srafm iy
(@) FATwsia (®) %1 Qs g

Kaka Kalelkar Commisgjon is related to

heduled Tripe
(A) Sc (B) Scheduled Caste
(C) Other Backwarq Classes (D) None of these

-

. 1801
1851
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(v) Tora Tt gumes 3 wdt-wen @1 R e 7 |
(31) vfEw . (@) T faaE

(@) sft anfare (2) T THEEA T
Which social reformer protested the Sati-Pratha’ ? 1
(A) Periyar (B) Swami Vivekanand
(C) Sri Aurobindo - (D) Raja Rammohan Roy
(vi) “geaH € gEash foeen foredt ¢
(31) s w&HA ’ (8) AR
| (W) wewd A () e
| Who wrote ‘Sultanaz Dream’ book ? | 1
(A) Begam Rokeya (B) Tara Bai
(C) Mahashweta Devi (D) Savitri Bai
(vii) SFITVRT-2011 3 STFER, W 1 Feof Seae fei & 7
(31) 121 FS () 101@@
(@) 11158 (3 131 |
What is the total population of India as er 1
(A) 121 Crores @ 1 Crores
(D) 131 Crores -

(C) 111 Crores

(vm)ﬁ'ﬂrff@‘aa‘fﬁﬁﬁiﬁ Eﬂ‘ﬁ'lﬂ?:‘ﬂﬁ:{m%? ?
(31) g (F)
(|) gem= (R U wt
Which of the following states has the I(l]l_b,g)he;é se); -ratio ? 1
A) H a erala |
EC)) Pl?g;': (D) All of above
(%) T T Y fora g d ‘Ferdier 6 A+ T g ?
(31) 1980 (3) 1990
(@) 2010 (®) 2020
From which decade has India adopted the policy of ‘Liberalisation’ ? ,
(A) 1980 (B) 1990
(C) 2010 He)an20
() o % A TH R oTEIeh Teheeh GTTT ST T Hehell R 7
©(37) e () EvSHIHT
(@) e ferdeft FaT (3) S
£ the world can be brought closer to each other by
The countries ouon (B) Globalisation 1
gé)) ;J;?:fgﬁslilrect [nvestment (D) All of above
1-29-Sociology [ Turn e

Previous Pathshala




|

4
(@) T (&) Yew
@) == ) ‘ ST Gl | 3
‘Which of these social reformers founded Satya'l Shodhak Samaj’ 9
(A) Vidhyasagar (B) Periyar 4
(C) Narayan Guru - (D) Jyotiba Phy]e y
(xii) 1 =hafveri o B wferes 2wt mwmmmi T
() e ot ?ﬂ T fiy
(9) G ST

%) Tt sy

Companies that produce their goods in more than ope Country, gre called
(A) Cottage Industry B) T ransnatlon al Corporatlon

(C) Public Company (D) Private Company
2. Treforfaa st & feart ot <) off ehifye
Fill in the blanks in the fol]owmg questions :

(i) “TREEITER_ Wﬁﬁﬂmmm]

Narayan Guru led the reformist Movesie
(il) ‘FTHETEE 988 TS % o

The author of the book ‘Unqm; ‘- ot _ :
(i) sl EemE_ R ST R e o |

Bardoli Satyagrah was a non-tax campaigy i : . | | ;
(iv) weme-mgd. mﬁm&mm T distriet.

Samvad-Kaumudi waﬁf;ﬁ;nagazme publishe
(V) " SHvSE & G w@‘qm oY o \?\ lalngage'

The mixing of g]obal WJth the local is calleg l |

Pandit Nehru asked media to play the 0l e o %p[ ey ﬁ‘qﬁ = 1

\\*- fdel‘ﬂOc:
e -q

‘ SECTION _
3. frefeiEd 99 % 3o i .
Give the answer of followmg questions :
} 0, Q@mﬁgﬁ;m m%é@mﬁq%? ' </
| Who is the author of hogj ¢ ‘Essay on ulagin s, _
(i) SR T RIS R gy AP | 1
What is the dependent section of Populatioy, o

d'in
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(iii) ERABTT FT ST ferti & 7
Who gave the concept of ‘Sanskritization’ ?

(iv) e @ Tl & fore iy fererrerar <6t et e < 7

Who started night schools for farmers and labourers ? ' 1
(v) G Sl s w i fafe |
~ Write any one feature of Social Stratification. ' ' 1
(vi) ‘I aEH’ 1 B9 HO TERIAT L THA & ? FIE T Hifereh e faReT |
How can we help differently abled ? Write any one basic example. 1
(vii) “Tpdiehtor ST qieerHieTr A 3 fefeam |
Write any one difference between Sanskritization and Westernization ? 1
(viii) “TEpAIRTl T qHA SR R ?
- What is the general intent of ‘Sanskritization’ ? 1
(ix) ‘regeEar 1 F F H1E T 37 |
Write any one remedy for eradication of Untouchability. _ 1
(x)  THGHUT S5 RIS 1 i T ST [ | |
Write any one example of negative effect, gl tbanisation. 1
9 g
ﬁ alisation 1
a Samaj ? 1
gig -4
SECTION -C
i1e Y s & Fsivard fafet |
Write any two characteristics of Caste. 1+1=2
qEiTE R ?
What is Prejudice ? 2
e Y ST a8 S e &
What do you understand by the age-structure of population ? 2
sposeher’ 3 g Qe ferree |
Write any two benefits of ‘Globalisation’. 1+1=2
sfeifiar it s o ferdrwand ferfe | '
Write any two characteristics of Industrialisation. . (41 2
fur? aver




13,
14,
15.

16.

17,

18.

52"

10.
11,

12.

6
gfvedientor 7o 8 7 Ge I faRaw |-
What is Westernisation ? Write in brief, i
T YAvEeligha STeferaRe % H1E @) wer fyf |

Write any two features of a globalised economy.

wmﬁ;@ﬂﬁg?mﬁQ@ﬁﬁﬁqﬁ,Wl

What is the reformist movement ? Explain briefly in your own words

ifean & 58w ey & ? IS 31 Hifereh Serewr feifw |

What are the benefits of Media ? Give any two examples as per your .OWn understandi
ing.

TSRS 1 ] ? WA § ey |

What is Glocalisation ? Explain briefly.

sfeifies rer 5 <1 it 5 9% 2 e e

Write any two examples of working-condition in Industrig] Society

Sl B wrrdl 1 e U 3 A ) e

Write any two basic suggestions to improve

Write any two negative effects of Globalis

>,
€

&

éf -
M

ST 1 i s P R A 1 s

What is Untouchability ? Diseuss the efforts made to er

31eEr/ OR

AT SIS 1 8 ?M%&wmﬁﬁm% |

T

2 7
s S
= conditions of wo

W~
“{»" SECTION-p

What is Social-Exclusion 2 Explain its different forms,

4T 3 SMETIFTT & srarel it 26t 3 Frerd 3 amemt o sy

EXI3 Jain the effects of Industrialisation in India on the ba

3IAYET/OR

O I R ?mﬁawﬁmﬁﬁéﬂmm%wﬁ

ke I Urbanisation ? Discuss the Urbanisation in independens Indj |
1a i

I'your own words,

adicate Caste-

818 of yoyy OWn jdeag

1+1=2

1+1=2

{kers in industries 1+1=2

1+1=2

dlscrimination. 1+2=3

Il your OwWn words.




7.

19, SRR T 8 7 WA TS T mgﬁﬁwm%mm‘iﬁﬁéw!ﬁm’l
" What is Modernisation ? Discuss the effects of Modernisation on Indian Society. 1+42=3
o FU=T/OR .
e w8 ? TR TS TR UTHeRTOT 3 WTel <t ST IR |

What is Westernisation ? Explain the effects of Westernisation on Indian Society.

20. aﬁmﬁayﬁaﬁﬁmwﬁﬁwﬁﬁﬁmww |

ive social effect of caste based movements in your own words. 3
91/ OR | 2
Wmm%mmﬁm%mﬁmm 1

Explain the environmental impacts of ecological movements in your own words.

Discuss the posit

s -4

SECTION - E@ @Qﬁ
21, e 3 e <6t e <y ferd ST | @u »
Discuss the literacy status in India. %’Q@g@ . | 4

What is population dividend ? Does the changing age structure offer a demographic

dividend for India ?

Syianait 1 SeerE HIRTT |

n its general characteristics. 1+3=4

Wﬁ%@ﬂﬁﬁ%ﬂmﬁﬁm

discuss: the role of Social reformers

22. SATfet 1 31ef EHE gC geehl A

Elucidate the meaning of Caste and mentio
31941/ OR

T 1 e e T g SR EA I

Iluminate the contemporary form of Caste and
related to it.

5. e 8y s e v R G T 1 RS T |
Discuss the role of Mass-Media i Social Change and Social Reform. 4
aerEi/OR

wﬁmmﬁmq&aﬁ:ﬁfﬁmﬂ%mﬁ’@ﬂmﬁmwm‘

Write short note oh the role of Print Media in Social Change in India.
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